Integration-type Time-to-Digital Converter

Using Vernier Oscillators
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1.Research Objective

2.TDC &Vernier Application Examples

Research for time-to-digital converter architectures
with Vernier oscillators
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@® Simple circuit
@® Good linearity without calibration

CLK1
Cﬂg(znﬂt) f1 Trigger Trigger
talrt i Circuit EN Dout _l_
4L_>: D Q Enable - mput ¢
Tin _— > > counter : sin(2m t) track& + &
R g i s o
ircult l
" sin(2rft + 2m/3) track&

@ 1] hold
Sln(ZTl'ft P 4) - t;;zc:l;& l @

EN

Enter three sine waves
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@® New time-to-digital converter architecture
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